value

ADMA
F rimmed-means(2.61,409.80) = , p = NA, 3P = 0.69, Clgsy, [0.47, 1.00], N pairs = 262

2.0-

15-

1.0-

0.5~

0.0-

R-avg

pBonferronl corrected — =0. 000148

PBonferroni- corrected =0.004

PBonferroni-corrected = 0.029

P Bonferroni-corrected = 0-005

P Bonferroni-corrected = 1.33€-09

P Bonferroni-corrected = 7-28€-07

agleO
(n=262)

thmmed 0.92

—

-H ﬁtrimmed =0.62

aglel agle3

Pairwise test: Yuen's trimmed means test

ﬁtrimmed =0.57

agle4
(n = 80) (n = 126) (n = 107)
age

; Comparisons shown: only significant

-2.0

-15

anfen



